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BER HHSEE KREBICEITHE=SITICET SR ET £

] (TRY

% L] B - BRTE B H B B ff & # =
BRI 7,774,000 + 201, 240 1,975, 240
EEAGE 7,774,000
EERE 201, 240
T Ot R A 7,774,000 x 53.85% ( 36% =+ (1 — 35%) ) 4,186,299
EBRIE 7,975,240 + 4,186,299 12,161,539
—REEEE 12,161,539 x 53.85% ( 35% =~ (1 — 35% ) ) — 527 6, 548, 461
e T 12,161,539 + 6,548, 461 18,710, 000
EBGERALE 18,710,000 x 10.00% 1,871,000
EHREH 18,710,000 + 1,871,000 20, 581, 000




BEERNIRE HHSEE KREBICEITHE=SITICET SR ET £
% [ B - KT B =S fill 3 i) i
ER 1,975, 240
BHE - % - AEEES 1,975, 240
RKBREIZHTREE=2 Y VTICET 2RHES 1,975, 240
EBE 1,714,000
HEEE 415, 450
1 SHE#(E 1.00 415, 450 415, 450
=
HERRNE - BE 5,419,500
2 BPINE - BE 1.00 5,419,500 5,419, 500
=
BRERORKRE - EE 947, 200
3 BEEDORE 2.00 198, 300 396, 600
]
4 BREREHDER 2.00 2175, 300 550, 600
=]
i - | 540, 500
5 ERTihE 1.00 117, 400 117, 400
]
6 FREAHmE 2.00 117, 400 234, 800
=]
1 RRWmE 1.00 188, 300 188, 300
=]
BEY 433, 550
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% [ B - KT B4 =S L i i) i
8 EBTEARREFK 1.00 433, 550 433, 550
=
AFABRGRDER 17, 800
9 AFARERDER 1.00 17, 800 17, 800
=
EERE 201, 240
EHERARE 72,335
10 EBHARE 1.00 72,335 72,335
=
EBHEMRE 93, 000
1N £BHEME 1.00 93,000 93, 000
=
HE 35, 905
12 @& 1.00 35,905 35, 905




iR - T/ \vr—

BMSEE KIRZBISHTPE=FIVTICET 2R £
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L5 AHEE(E IEEL,
£ 5 K - ikt ik Bifs 2 =R ) B =&
BEE
A 1.00 70, 900. 00 70, 900
EX 2T HEH))
A 1.50 62, 200. 00 93, 300
HEm (A)
A 2.50 55, 200. 00 138, 000
KERm (B)
A 2.50 45, 300. 00 113, 250
& &t EZREH : 1.00= 415, 450. 00 415, 450
E=S:2
B BEHINE - BE 1LY
£ b3 B - BIRHE ==Fivd 2 B %5 B =
FEHEm GRED)
A 15.50 62, 200. 00 964, 100
HEm (A)
A 27.50 55, 200. 00 1,518, 000
HEn (B)
A 36.00 45, 300. 00 1, 630, 800
HEm (C)
A 22.50 35, 600. 00 801, 000
B8
A 16.00 31, 600. 00 505, 600
& F EZRES - 1.00=% 5,419, 500. 00 5, 419, 500
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E=S:3
& REIRORME HEED
% b g - Bk-TiE =-Riv] = B {f ® % B =&
EXE T IEH))
A 1.00 62, 200. 00 62,200
HEm (A)
A 1.00 55, 200. 00 55, 200
HEm (B)
A 1.00 45,300. 00 45, 300
HEm (C)
A 1.00 35, 600. 00 35, 600
& it YEZ£REH - 1.00E=] 198, 300. 00 198, 300
55 4
&2 REREROERK HEED
% b R - BK-TiE BT = B {f 4 %8 " &=
F {EHEm (BRED)
A 1.00 62, 200. 00 62, 200
HEm (A)
A 1.50 55,200. 00 82, 800
e (B)
A 1.00 45, 300. 00 45, 300
HEm (C)
A 1.50 35, 600. 00 53, 400
Hittg
A 1.00 31, 600. 00 31, 600
& B YEZ£REH - 1.00E=] 2175, 300. 00 2175, 300
&= :5
£ . BRIiRE H=ED
% b g - Bk-TiE =-Riv] = B {f ® % B =&
EXeE: 116G H))
A 1.00 62, 200. 00 62,200
HEm (A)
A 1.00 55, 200. 00 55, 200
& it YEZREH - 1.00E=] 117, 400. 00 117, 400
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&5 :6
L PRERE HEER)
% b B - BRHE BAfRL 2 B {f & ) B =&
EXE T IEH))
A 1.00 62, 200. 00 62, 200
AR (A)
A 1.00 55, 200. 00 55, 200
& it YEZ£REH - 1.00E=] 117, 400. 00 117, 400
51
2% . =IRERE HEER)
% b R - BRHE BAfRL 2 B {f & ) B =&
HEn&
A 1.00 70, 900. 00 70,900
EX T ACH))
A 1.00 62, 200. 00 62, 200
AR (A)
A 1.00 55, 200. 00 55, 200
& Hi YEEREH - 1.00E=] 188, 300. 00 188, 300
5.8
&M EBRTRREERK =10
% b R - BRHE BAfL 2 B & ) B =&
EXETICH))
A 1.50 62, 200. 00 93, 300
HEm (A)
A 2.50 55, 200. 00 138, 000
HEm (B)
A 2.50 45,300. 00 113, 250
KER (C)
A 2.50 35, 600. 00 89, 000
& &t YEEREH - 1.00K 433, 550. 00 433, 550
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=5:9
&% 2FRAARRERDOER 1Y
] b g - BKTiE =R ivd £ B (@ 4 %8 " &
HEm (C)
A 0.50 35, 600. 00 17, 800
& g EZEfEH : 1.00R 17, 800. 00 17, 800
=:10
2% EHERARE 1X&HY
£ b I - Ik ik By = B ol %8 i
EHARE
= 1.00 72,335.00 72,335
& &t EZEfEH : 1.00R 72,335.00 72,335
E5 11
£ FBEHRERE IEE1D)
4 b R - BK-TiE BT = B {f 4 %8 fi&
XBHRRE
=R 1.00 93, 000. 00 93, 000
& H ES .00 93, 000. 00 93, 000
5:12
A BE 1X&Y
% E g - Bk-TiE By =1 B & % i
= 1.00 35, 905. 00 35, 905
& g 1EEREH : 1.00 35, 905. 00 35, 905




